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Qr Úowlp r gld 5: gh p dlr / p dlv gh 63
idp Íoldv i r udp ghvshmdgdv gr
df dp sdp hqwr Fdmxhlur 4/ or f dol}dgr qd
id}hqgd SduhgÃr / qd UR058: / hp
P df kdglqkr GmRhvwh1 Sduwlf lsdudp gd
dÇÃr yhuj r qkr vd sr olf ldlv gd SP /
J RH/ gr vhuylÇr gh lqwholj Êqf ld/ gd
Sr oÍf ld Flylo h Fr usr gh Er p ehlur v/
i r uwhp hqwh dup dgr v/ hp yÁuldv yldwxudv
h dwÉ qxp kholf Óswhur 1 Rv sr olf ldlv
r eulj dudp wr gr v df dp sdgr v d ghlwduhp
qr f kÃr / suhqghudp r lwr f dp sr qhvhv h
dsuhhqghudp 8 p r wr v1

KÁ yÁulr v p hvhv r v f dp sr qhvhv gr
df dp sdp hqwr Fdmxhlur 4 yÊp oxwdqgr
shor vdj udgr gluhlwr À whuud/ dsr ldgr v
shod OFS1 Kr xyh yÁuldv uhxqlÕhv gh
qhj r f ldÇÃr f r p r Lqf ud h J huf lqr Mr vÉ/
Rxylgr u Dj uÁulr Qdf lr qdo1 Qr Úowlp r
gld 5; gh deulo/ r v f dp sr qhvhv dlqgd
df hlwdudp xp df r ugr t xh glp lqxÍd d
Áuhd sdud dv idp Íoldv1P dv qdgd glvvr
i r l vxi lf lhqwh sdud hylwdu p dlv xp
ghvshmr devxugr 1Txhp ghx d r ughp i r l
r mxl} Khg| Fduor v Vr duhv/ gh
P df kdglqkr GmRhvwh1

Mxl} r ughqd ghvshmr ylr ohqwr hp P df kdglqkr

D Áuhd gh 41733 dot xhluhv É gd XqlÃr /
ghvwlqdgd À uhi r up d dj uÁuld1 Hp
vhwhp eur gh 533< xp mxl} ghx xp
sud}r gh 63 gldv sdud r id}hqghlur
ghvr f xsdud Áuhd1Hoh qÃr f xp sulx hvwd
r ughp mxglf ldo/ qlqj xÉp ih} qdgd h
i lf r x sr ulvvr p hvp r 1

P dv sdud ghvshmdu dv idp Íoldv/ dj r ud d
SP gr j r yhuqdgr u Fr qiÚf lr P r xud
+SP GE, i r l uÁslgd h p r elol} r x j udqgh
dsdudwr hp sr xf r v gldv1 Hvvd É d
hi lf lÊqf ld ghvvh yhokr Hvwdgr / vhp suh
sur qwr sdud uhsulp lu r v sr euhv h
df r ehuwdur v f ulp hv gr v odwlixqglÁulr v1

Wr gr hvvh dsdudwr i r l xvdgr sdud ghvshmdu63 idp Íoldv1P dv sr ut xh qhqkxp sr olf ldoi r l p r elol}dgr
sdudghvshmdur id}hqghlur BTxdqwr v sr olf ldlv i r udp lqyhvwlj dur v dvvdvvlqdwr v gh f dp sr qhvhvB

Sr olf ld kxp lokdhghvshmd idp Íoldv gr Fdmxhlur 4

QÚp hur 53 Mxqkr 25348 z z z 1uhvlvwhqf ldf dp sr qhvd1f r p

UhvlvwÊqf ld Fdp sr qhvd
Mr uqdogd Oxwd Fr p edwlyd gr v Fdp sr qhvhv Sr euhv

ydor u=3/58

Fdp sr qhvhv ihf kdp d EU 697 hdi lup dp =

R Eudvlosuhf lvd gh
xp d j udqghUhyr oxÇÃr

Ohld wdp eÉp qhvwd hglÇÃr =

Hglwr uldo

Fr p sdqkhlur Sdxor Mxvwlqr =suhvhqwhqdoxwd$

Wr gr v Àf hoheudÇÃr gr < ghdj r vwr

Mxl} r ughqdghvshmr ylr ohqwr hp P df kdglqkr
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Sdxor Mxvwlqr / dvvdvvlqdgr hp
Ulr Sdugr qr gld4• ghP dlr

Dlqgdghp dguxj dgddEU 697 i r l ihf kdgdshor v
f dp sr qhvhv1Ohldp dlv qdv sÁj lqdv 9/ : / ; h<1












